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y=2.3456e-7;

000000000000 23456x107700000000000 e-7001077000000000
oooooboobooboooobobooboooboooboooobbooboooooooooon
ooboobobOoboooboog

e JIDOUODOO0ODOODDOODODODOO0O0OON Umu=1.25663706144e-6 0 0 U Oprintf [
goobooooooog

printf ("%f\n",mu) ; 0.000001

printf ("%0.10f\n" ,mu) ; 0.0000012566
printf("%QO.lOf\n",mu); 0.0000012566
printf ("%e\n",mu) ; 1.256637e-06

printf("%0.10e\n",mu); 1.2566370614e-06
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printf ("%20.10e\n" ,mu) ; 1.2566370614e-06
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int hoge=123, fuga=456;
double foo0=3.1415, bar=1.6e-19;
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const int hoge=123;
const double fuga=9.8765e+43;
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ave=sum/n;
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ave=(double)sum/n;
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ave=(double) (sum/n);
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#include <stdio.h>

int main(void)

{

int tensu;

printf (70000007\t”);
scanf ("%d” ,&tensu );

© 00O Ut WN -

10 if (tensu <50){

11 printf (0000000000000 0O00OO0OOOO0ON\N”);
12 }else{

13 printf (?’00000000000000O0OO0O\n”);

14| 3}

16 return 0;
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